EAGRAROBREERT — 2 N— ABISH —F

20205 7R8H (k) 7EIF5I2H

m 3LlEC4—6 C4 4% —#% ‘ [xz] & ‘ [eErm] — | & (@) 17000 &
[AE4£] 1% :300,000"  23%&:84,000H”  33%&:63,000H . 47&:42,000MH . 57%&:21,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
Ao p= 43 | FLRE 1:50.5 6-6-5-3 |39.2| — 2 442 | MAFMBL (bimE)
(155 E—E=—F5EF¢ 5.0 o o) | ) RS
L:7—IRFI-X B:Ly RK¥—ANJ IREAIS
S 4 3 | RAHEE 1:50.8 4-4-3-3 [39.8| — 4 436 | EIHIEE (LiEE)
EH 31— > F 56.0 (11/2) (-2) tid -
L:xrinao— B:NgIN #F R
e ke . 4 3 | EATEZH 1:50.8 1-1-1-1 | 40.5| — 3 502 | EIWFEI (ALiEE)
3(g|10| Y>> Rb 5.0 F) Croy | ) mExF T
SRENN=T B:YF HRet 71X
TR # 3 | BEXX 1:52.2 6-8-5-6 |40.7| — 7 444 | BRE= (L&)
411 | TET>/04 56.0 @ ) WS
R:b—t>ya—4r B4 I/94 [=Xite]
== 4 3 | BREFF 1:52.4 2-2-2-2 | 42.0| — 5 508 | REREL (dtiEE)
sl7lg| av1-E7%7 50 & i |MAESE
L:ErFOVY BXLHFIL-CE-— B8R BRER
j ARafrsse (5. -3-3- 6| - Hepiga] (msd)
cl 4| TANETF—2X S a0 il IR R ° (fg) B sta
L:UTIA IS N BTIvY pu e}
S S t 3 | Bl 1:54.1 9-6-5-7 |42.6| — 1 490 | HEEIEGL (ALimi&E)
707 7| MNF 28— * 56.0 @ (g) | MIIKHE .
LxA Ty R—L B:xATz1XL—X BHHE
P BB : -5-8- — HdiEE (i)
glalg|7—29n7 > 3| o 1.(585).8 4-5-8-8 | 43.5 8 :_220) e il
LiANTz—dI B:T7—ZP 2RI BEHHS
iL—SL YK Rt 56 -10-9-8 | 43.7 | — RS (L)
0 | TL— sy R B3 % 1(516)0 10-10-9-8 | 43.7 9 :1;3) /\M%ERE B
R:RyY—rb—O— B:¥aYaXTFUL BRT 7 — L
H 4 | BTEE 1:57. -8-10-10 | 44.7 | — 26 |EABE— (i)
10 6| 7 —ANA— E 54.0 (56)3 8810110 10 ?o? LS =
T —KTPYa—Ib Biky hXY il FAFAT7— L
® 1 —F—@EBIERL
1T=7r= 10,8,4,(3,9),(1,5),6,7,2
23—75— |10,8,4,3,9,(5,7),(1,6) ,2
33—7+— |10,8,(3,4),(1,5,7),9,2,6
43—+ — 10,8, (3,5) ,4,1,7,(2,9) ,6
[ N5
B 5 310 714K 3-5 650F9 e E 3-5 1,290 JEE 3-5-10 1,950
B B 5 1604 5-10 410 B = Bt 1,300 3B 5-3-10 8,510
3 170 3-10 430M B H 5-3 2,090
10 160

ARICOVWTRDTEEERROODE. TR LI,




